NEWALL o
Universal Bracket Kit
Part # UBKO02

This kit mounts one Spherosyn / SHG Series and one
Microsyn / MHG Series Reader Head.

294-22530 294-22510 294-22460 294-35260 294-35270
Angle - 3x3” (1) Flat Plate Flat Bar (1) Micro Angle - 3x3" (1) Micro Plate (1)
Double Slotted (1)

Tie Wrap (10)

8-32 x 1” Socket Head Screw (4)
8-32 x 1/2" Set Screw (4)

1/4-20 x 3/4” Socket Head Screw (8)

10-32 x 1 1/4” Socket Head Screw (4) 8-32 x 3/4" Socket Head Screw (6)

10-32 x 3/4" Socket Head Screw (6) #8 Washer (6)

1/4" Washer (10) #10 Washer (10)

1/4-20 Nut (2)

Some modification of bracketry may be necessary during installation.

NUSA_011305



Part # 294-35260

NEWALL

Bracket Drawings
Universal Bracket Kit
Part # UBKO02

This kit mounts one Spherosyn / SHG Series and one
Microsyn / MHG Series Reader Head.

Part # 294-22510

Part # 294-35270

25.4(1")

TAP 8-32 UNC

g
o

E— [
a 205 31844*

6 35(0.25")

65.5
4.7
65.5
4.75 —i
[
SLOT 4.5x8

254017

el

\ 132
\ 20 105
b o N
: 4 R
D 7 D

340

“A" holes tapped 1/4-20

4,75 —=

TAP 8-32UNC THRO.—2off

57.15(2.25")

[

o]

6.5

2.5

6.35(0.25")

.
—

Part # 294-22460

Part # 294-22530

9.5(3/8")

f -

“A" holes tapped 10-32
“B” holes tapped 1/4-20

18
34.0 74
B _|B ] A
> &8 o a i
34.0 50
~
132

L‘

3/8" A‘f
T

16

43

NUSA_011305



NEWALL Installation Drawings
Universal Bracket Kit
Part # UBKO2

This kit mounts one Spherosyn / SHG Series and one
Microsyn / MHG Series Reader Head.

Spherosyn / SHG Series Spherosyn / SHG Series Microsyn / MHG Series

294-22530

- /7 294-223510

1/4-20 Tapped holes may
O need to ke enlarged
— for clearance

Lr——

I
Reader Head 4/ Z
294-22460

/294*22510

294-22530

Reader Head
/ Scale

[ ]

L:=IC |
o o ::j@‘LJ

/7294735260

Holes are topped 8-32°. Insert set screws,
and adjust as necessary.

I
294,224504/

Reader Head

Microsyn / MHG Series Microsyn / MHG Series

I ] o

Reader Head
\ 294-35270
(e} o z
294-35270
b
il
I
- [ ]

/7294722530

(oD}
[exn}

@]
el
o

Reader Head

NUSA_011305





